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BGGCT-132 : HUMAN GEOGRAPHY 

Time : 3 Hours     Maximum Marks : 100 

Note : Attempt all questions. Marks are indicated 

against each question. 

1. Attempt any five of the following questions : 

5×4=20 

(i)  What is the nature of Human Geography ? 

(ii)  What is Environmental Determinism ? 

(iii)  Explain human adaptation in cold region 

with an example of Eskimos. 

(iv)  Explain any four racial elements of 

population in India. 
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(v)  Define religious fusion. 

(vi)  What is age-dependency ratio ? 

(vii)  Write a note on urban village. 

(viii) Define urban fringe. 

2. Discuss any five major concepts in Human 

Geography.  15 

Or 

Discuss the development of Human Geography 

in the age of exploration, modern and post-

modern period in detail. 

3. Write in detail about the linguistic 

classification in India. Highlight the spatial 

pattern of major languages under each 

language family in India. 15 

Or 
Explain territory and region formation in India. 

4. Critically discuss the Malthusian theory of 
population growth. 15 

Or 
What is migration ? Write in detail about the 
causes and consequences of migration. 
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5. Write a detailed note on the classification of 
settlements on the basis of forms, size and 
functions.  15 

Or 
Discuss the morphology of rural settlements 
with special reference to India. 

6. Answer any two of the following questions in 
about 600 words each : 2×10=20 
(i) Write a note on human-environment 

relations. 
(ii) Briefly discuss environmental problems of 

urban growth. 

(iii) What is hierarchy of culture ? Explain. 

(iv) Write a note on occupational structure. 
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      BGGCT–132 

foKku Lukrd (lkekU;) (ch- ,l-&lh- th-@ 

ch- ,l- lh- ,e-) (lh- ch- lh- ,l-) 

l=kkar ijh{kk 

fnlEcj] 2024 
ch- th- th- lh- Vh--132 % ekuo Hkwxksy 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % lHkh iz'uksa ds mÙkj nhft,A izR;sd iz'u ds vad 
mlds lkeus vafdr gSaA 

1- fuEufyf[kr esa ls fdUgha ik¡p iz'uksa ds mÙkj nhft, % 

5×4=20 
(i)  ekuo Hkwxksy dh izd`fr D;k gS \ 

(ii)  i;kZoj.kh; fu;frokn D;k gS \ 

(iii)  ,fLdeks ds mnkgj.k ds lkFk 'khr izns'k esa 

ekuo vuqdwyu dh O;k[;k dhft,A 

(iv)  Hkkjr esa tula[;k ds fdUgha pkj iztkrh; rRoksa 

dk o.kZu dhft,A 

(v)  /kfeZd lay;u dh ifjHkk"kk nhft,A 

(vi)  vk;q&fuHkZjrk vuqikr D;k gS \ 



 [ 5 ] BGGCT–132 

B–1411/BGGCT–132  P. T. O. 

(vii)  uxjh; xk¡o ij ,d fVIi.kh fyf[k,A 

(viii) uxjh; mikar dh ifjHkk"kk fyf[k,A 

2- ekuo Hkwxksy esa fdUgha ik¡p vo/kj.kkvksa dh ppkZ 

dhft,A   15 

vFkok 

[kkst dky] vk/qfud dky vkSj mÙkj&vk/qfud dky 

esa ekuo Hkwxksy ds fodkl dh foLrr̀ ppkZ dhft,A 

3- Hkkjr esa Hkk"kkbZ oxhZdj.k ds ckjs esa foLrkj ls fyf[k,A 

Hkkjr esa izR;sd Hkk"kk ifjokj ds vUrxZr vkus okyh 

izeq[k Hkk"kkvksa ds LFkkfud izfr:i ij izdk'k Mkfy,A 

15 

vFkok 

Hkkjr esa {ks=k vkSj {ks=k xBu dh O;k[;k dhft,A 

4- tula[;k o`f¼ ds ekYFkl ds fl¼kUr dh 

vkykspukRed ppkZ dhft,A 15 

vFkok 

izokl D;k gS \ izokl ds dkj.kksa vkSj ifj.kkeksa ds ckjs 

esa foLrkj ls fyf[k,A 
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5- Lo:i] vkdkj vkSj dk;Z ds vk/kj ij vf/oklksa ds 

oxhZdj.k ij ,d foLr`r fVIi.kh fyf[k,A 15 

vFkok 

Hkkjr ds fo'ks"k lUnHkZ esa xzkeh.k vf/oklksa ds vkd`fr 

foKku ;k vkd`frdh dh ppkZ dhft,A 

6- fuEufyf[kr esa ls fdUgha nks iz'uksa ds mÙkj (izR;sd) 

ds 600 'kCnksa esa nhft, % 2×10¾20 

(i) ekuo&i;kZoj.k lEcU/ksa ij fVIi.kh fyf[k,A 

(ii) 'kgjh o`f¼ dh i;kZoj.kh; leL;kvksa dh laf{kIr 

ppkZ dhft,A 

(iii) laLd`fr dk inkuqØe D;k gS \ O;k[;k dhft,A 

(iv) O;kolkf;d lajpuk ij ,d fVIi.kh fyf[k,A 
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